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1) ROBIFEXZHETS, (4R X5)

1 { 6x+18y=11
3y=6x—4

2) { 2x—3y=4

—3x+4y=—7

3) { y=5x—26
y=x—2

[SSRE

a) { 2(x—y)+y=
x=3x+y

5) { 1.2x—1.5y=6. 3
—0. 4x+0. 9y=-0.9
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2) ROEIFBRAEMELTSL. (4R X58)

1 {3x—y=—15
x+5y=11
_ 5
y—x+€
2) ]
y=2x+6
3) { 2(x+y)+3(x—y)=—-24
—3(x—y)+2(x—4y)=—16

4) 4x+y=5x—y+g=3
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1
y=2x— —
1) 2
y=—4x+ -

2) { 5(2x—y)=by
3x—2(x—2y)=35

2y=x—3
2y=5x+1
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y=—2

1
_X—

1) { ‘;
gx+y=

N|=—

alnN

2) { 3(x—y)—(x—4y)=—4
2(2x+y)=9—(—x+2y)

4 { 2x:y=7:2
x+5y=3(x—y)+18

5) X—y+3=2x—y—7=—x+2y—4
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5) ROEILFBRAEMELTIL. (4RX58)

1 { —2x+5y=13
4x—T7y=-—11

2) { 3y=—x—1
4y=3x+29
0. 5x+0. 6y=2. 3
3 x4y 3
8 2 4
4 { y=4x+2
0. 5x4+0. 3y=0.6
5) 10

{ 2(x—y)+(x+y)=—19

(x+y>—2(x—2y)=§
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1) ARE—M@E (45 X58) A =]
1) x=§, y=% 2) x=5,y=2 3) x=6, y=4
4) x=%, y=—§ 5) x=9, y=3

2) KIE—RE (4R x5H) A =]

1) x=—4, y=3 2) x=§, y=g 3) x=—4,y=4

4) x=1§, y=1 5) x=2, y=8
3) KE—E (4R X58) A =]
1) x=§,y=l 2) x=7,y=7 3) x=—1,y=-2
8 4
_ _ 5 4
4) x=3, y=6 5) X=g ¥=3
4) KE—RE (45 X58) A =]

1) x=—4,y=2 2) x=—5,y=6 3) x=—> y=1

4) x=7,y=4 5) x=10, y=9

5) &IE—ME (4R Xx5H) A B

1) x=6, y=5 2) x=—7,y=2 3) x=4, y=%

A v 1,2
4) x=0, y=2 5) x= > Y=z



